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a1 22 Ulle «iiou irmiintf lih aaiitifl‘ianfu'[uTJtnrin-ias'I'Ru'SriSurn

EDU X11 K12 K13 K14 XX1 X2 X3 X4  XX31 XX52 X6 XX7 XX8 XX9 X10 X1 XXa X8 XXc Y1 v2 Y3 Y4
EDU 1
K11 188 1
K12 78 § | .06 1
K13 .05 .06 -.03 1
K14 .38% .36 .06 -.06 1
w1 L12¢ -.02 .01 09 -.10 1
XXz 12 .05 -.01 .01 -.10 .60+ 1
X3 .10 .08 .02 .08 -.07 .68% .72¢ 1
Ao ¢} .09 .03 .02 .07 -.08 T 56% .G69% 1
XX31 .09 .01 .03 .05 -.09 66 18% CRE I 1
XX32 .03 .07 .04 .06 -.05 .49 104 i8¢ .63¢ 52¥ 1
XXs .01 .07 .00 .09 -.05 .18% _48¢ 32¢ . 4B% Y, 1 1
XX7 .00 .02 .09 L11% -.03 8% 37 12% 454 P S B § 32¢% 1
X8 .03 .01 .02 .07 -.07 I 12% 53¢ 53¢ 56% _.JiB% 53¢ .40% 1 <
Xxe .04 .05 .06 .15% -.06 28 21 0% L 42¢ 118 428 4B¢ 34 37% 1
XX10 .01 .02 .07 L1489 - .04 .24 26¢ 30% 36 31s 30% 338 108 16¢ . 12% 1
XX11 .02 .02 .04 .03 -.04 33 51¢ _60¢% ST .59% IB¥  .35¢ .31+ 34  _i5%  _37# 1
XXaA 00 .00 .02 -.02 -.02 .30% 31 34% . 38% 33¥ .38F 32979 42¢ .25¢ .20% .28¢ .48 1
X8 .04 .00 .01 -.04 -.05 13% AR¥ 49¢% _16%  _50¢% .45¢ dJ4® (50%  .39% .28% .24% _.53% _63¢ 1
XXC .02 .12¢ -_10 .02 -.03 39¢ .38% 4 _das 456 408 A48 199 410¢ .36 33 .61¢ _.61% _.70¢ 1
Y1 .01 .05 -.04 -.03 -.01 -.05 -.06 -.04 -.03 .00 .01 .04 -.07 .02 .00 -.086 .01 -.02" -.01 .02 1
v2 00 .02 -.00 -.08 .00 -.01 .03 .01 .00 -.03 .02 -.01 -.01 -.02 -.03 -.06 .03 .06 .02 .01 .46% 1
¥3 .03 .03 -.10 -.02 -.06 .04 -.03 -.04 -.02 -.05 -.01 .03 -.03 -.01 -.02 -.06 -.06 -.04 -.04 -.04 .10 .27 1
Y4 .02 .03 -.068 -.06 -.07 .01 .07 .04 .04 .06 .06 .07 .08 .05 -.01 .03 .06 .08 .05 -.01 .14 _35¢ 21 1
vs .01 .01 -.08 -.06 -.01 -.03 .03 .01 .03 .01 .00 .02 -.02 .00 -.03 -.03 .02 .00 .02 .03 .T0%  _47# 21¢ . 23¢
Y6 .01 .04 .08 -.06 .00 .07 .06 07 .02 .02 .08 .03 08 .02 .01 -.02 .08 .08 .07 -.02 .22% 32% 134 17
Y7 .01 .04 -.08 -.02 -.02 .02 .02 .02 .00 -.02 .00 .00 -.03 -.01 -.03 -.04 .01 -.02 .02 .02 .07 .16¢ 10 .08
Y8 .04 .08 -.19% -.03 -.07 .01 .01 -.02 .02 .03 .01 -.02 -.03 .03 .00 .01 .02 -.03 -.01 .10 .07 118 (10 .08
Y9 .02 .02 03 -.05 .04 01 -.02 -.01 .00 -.01 -.01 -.03 -.05 -.02 -.07T -.0% .00 .00 .04 .01 J3TE L34 J15¢ L 11¢
vy .02 .05 -.13% -.06 .03 .00 .03 .00 -.01 .00 .00 .00 -.05 .01 .04 -.04 .02 .00 .03 .06 .49% .58% .21% 197
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EDU K11 K12 13 KM a2 k3 xed xxstoxxs2 o X8 XX axs xx9 X100 X0l XXA XXB XXC Y1 Y2 v3
EDU 1
K11 ATF
K12 13 -.08 1
K13 AL 08 -.03 1
k14 A% 24 11 .00 1
XX 0305 .03 -.07 -.02 1

XX2 .09 .01 -.13 - 11 .10 .60% 1

XX3 -.05 - 10 -.02 .03 .01  .66% .68% 1

XX4 .03 .04 08 .05 -.08 .76% .39% .g4* 1

XX51 .02 .08 .03 .02 -.07 .62%* .31* 5% .72% 1

XX52 -.08 -.04 .04 -.00 -.06 .49% ,36% ,43% .59% 57% 1

XX6 08 .16 .00 .15 - 12 .40%  45* 37% 36% 52% 2 \

X7 08 .07 03 .20 -.11 0 .33%33% 37% 43% 0 35% 9% 1Y

XX8  -.03 .05 -.02 .05 .12 44T aa* g% 49* 50% 0 g9%  48% 8% 1

X9 08 .08 .01 .14 -4 as*3a* o 36% 41* o 37% 0 35% a7 9% 5% g
XX10 .00 .14 01 .05 .13 .24% a9%  an* 34* 27 4e* g0* 3% 41* 37% g

XX .05 .11 .04 02 -.14 B6*.59%  61*  50%  s0* 46* .+ .51*  58*  46*  35%

XA =03 .02 -.01 .11 -.06  .28% L26%  25%  32% L27* 3e* o 31* 46 20 .15 L26% 48t 1

XX -.00 .04 -.06 .05 .15  48% 53% 49% 52% m2* 54*  46*  52% 40 L28%  42%  66% 51% 1

Xxe 07 .13 -0 16 .05 -.07  42%  42*  46*  47* a6* 36% 46% .48 L34%  37% 37F 63%  52*  63% 1

Y1 100 .20 .11 11 -.15 -.05 -.05 -.09 ~-.07 -.05 -.03 .08 .03 -.08 -.04 -.15 ~<=g .02 +-.04 -.00 1

Y2 .06 .03 .08 -.12 .06 .02 .17 .09 .03 .02 .09 .12 .20 .04 .02 .01 .14 ,23% 13 .04 .55F 1

Y3 13 .14 -0l .05 .05 .06 -03 .01 .02 .04 .03 -02 .02 -.02 .04 -03 -.07 -06 -.03 -.06 .14 -06 1
Y4 04 -05 .01 -.14 -01 -.04 .17 .09 .04 06 .12 .09 .23 .09 -.00 .15 .16 .24% 19 06 .21 .82% -.17
Y5 04 06 -.16 -.10 .04 03 .18 .02 -.04 -08 .11 .02 -.00 .00 ~-.04 .03 .03 ..06 .09 .01  .43% .53% .09
Ye 05 .00 .16 -.02 .10 -.02 .01 .06 e .03 .01 -.02 .12 -01 -.03 -.12 .03 .13 -.03 -.03 .61% .65% .13
Y7 05 .05 -.33% .06 ~-.15 .01 .16 .03 .04 .06 .07 .03 .03 .11 .02 .16 .10 -01 .07 .20 -.10 .01 ~-.12
Y8 06 .04 -.28% .04 -12 05 .13 .02 .07 .10 .04 .04 01 .09 03 A1 11 -.01 .03 .22 -.12 -.04 -.08
Y9 10 .15 .00 -.05 .12 .06 ~-.04 -04 04 -01 -04 -07 -.15 -01 -.15 -09 .01 -.10 -.01 .06 .19 -.20 .05
Yy .08 .07 -.29% .08 -08 .04 .19 .03 04 .04 08 .03 .01 .08 -01 -10 .10 .02 .07 .17 .14 22 -.03
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arraam 23 Ui Slab 3 1 1 1 ?ruBas» » R}T? ‘
EDU K11 K12 K13 K14 XX1 XXz XX3 XX4 XX51 XX52 XX6 XX7 XX8 Xxe X1o X11 XXA XXB XXC Y1 ve v3 Y4
EDU 1
K11 504 1
K12 -.07 .08 1
K1z -.08 -.01 -.16 1
Kis 630 .29% .31 -.05 1
XXi -.14 -.01 .0z .01 -.08 1
XXz -.19 -.09 .12 -.06 -.086 .62+ 1
XXz -.20 -.08 068 -.04 -.11 .66¢ T1ie 1
XX< -.10 .10 .1z -.10 -.04 .T75% B1# 724 1
XX3: -.12 .06 .08 -.10 -.12 ERY  .52¢ .64 754 1
XX3¢ -.12 -.17 -.0d -.02 - .55¢ 50% 544 594 58+ 1
XX¢ -.07 .07 12 -.05 -.10 459 45¢ 524 304 514 L0 1
XX7 .08 16 .20 .10 -.01 .46¢ 254 26 .31 26 24 438 1
XX¢ -.0 -.02 .01 -.02 -.07 544 32t 354 6% .5TY . 43¢ 374 .1B 1
Xxe .07 .02 -.04 N3 -.05 <274 ES a8 129 204 454 L A42¢ 24 AN 1
XX .07 .08 .05 .08 -.02 414 404 26 S0 381 AT 033% 050 5260 k] ] 1
X¥i1 -.0a -.04 .08 -.0f -.02 554 SRt in R0 3% .5h .51 2460 S ane 404 1
XXa -.01 -.01 - .05 i b .37 234 25 149 I6¥ T 4BY .90 _42¢ .27 0% .42¢ .46 1
X\F -.03 .01 - -.02 -.01 .49 51 57+ 37¢ 524 524 ST .52% 3¢ 4T .42 .67 _52¢ 1
XNC .12 .04 .02 .01 -.14 L4694 424 584 32¢ A0 .46%  _51¢ .59 364 47 T _B5¢  _5B¢ 72¢ 1
Y1 .04 -.09 L1 -.04 .08 -.2&8 -.10 12 -.18 -.1% -.04 .02 -.04 -.06 .02 -.06 - - -.04 .01 1
Y2 10 .08 .02 -.1¢ A0 -.27 -l12 14 -.18 -.17 -.05 -.0¢ -.Dp2 -.06 -.07 -.04 -.06 -.03 -.06 -.02 .62 1
¥z .08 .06 -.10 -.04 .04 .14 -.10 .06 -.07 -.02 -.08 -.09 .05 -.02 -.17 -.03 -.12 -.02 -.04 -.02 .03 .52¢ 1
Y4 ‘Iu'l':'n'a:'m
Y5 07 -.10 .10 -.07 .12 -.21 -.06 .08 -.16 -.16 -.07 .04 .03 -.06 -.04 -.03 -.04 .03 .06 .04 .Ba% .76 .43
Ye
A\ .10 .02 - .05 .08 -.25 -.18 .14 -.20 -.1 S - -.12 -.17 -.12 -.21 -.09 -.07 -.06 .16 .59 .B2¢
Y& .10 .02 .02 .05 .11 =019 -.1% 12 =T =zl -.16 .02 -.15 -.18 -.11*-.2% -.07 -.09 -.05 -.02 L4749 LT
Yo .14 -.01 .05 -.04 L1400 =20 -.14 .12 -.16 o | -.17 .01 -.12 -,11 -.08 -.17 -.06 -.12 -.02 .14 .69¢ .57
b3 .10 -.03 07 -.03 .13. -.26 -.12 .12 -.20 -.2 -.05 .02 -.11 -.12 -.08 -.14 -.02 - -.01 .61% _.B1+ _69¢
Iy .nnt

07
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XX 1
xx 51
xx 52

Xxe

xx 1

xx?
xx 10

XXl

. 64*

-.12
-.14
-.08
-.08

. 16

-.07
-.07

.00

-.15

.07
.03

-.07

.06

-.10
-.06
-.03
-.03
-.08

-.02

.09

-.07
-.05
-.02
-.03

k11

.03

-.05
-.01

.06
.00
.02

k12

-.14

.04
A2
.10
12
15
A7
A7

-.02

15
14
13
.16
A7
.23
.20

-.01
- . 26%
=12
=11

=10

.00
A1
.07
.02

-.05

k13

1

-.01

.06
.00
-.09
-.04
-.07
-.01
-.06
-.05
.05
-.03
-.04
-.01
-.05
.08
01
-.07
.00

-.05
-.14
=11
-.06
-.04
-.09

-.05
-.07

.00

-.03
-.03
-.01
-.01
-.01
-.07
-.01

A1
.06
12

-.06
-.02
-.03

.18

-.13

.01
07

-.07

.02

-.01

01

3

XX

564
JT0*
T4
.68*
.56*%
.52*
.50*
. 46*
37
. 20*
60*
. 40*
60*
45%

-.04

.00

-.01

07
A1
il
.00

-.04

A1

.01

XX 2

1
(15%
41
44
. 38*
.64*
37
AT
.33%
. 20*
.50
. 34*
4%
. 35%
01
.03
.08

A1
14
A1
.06

=10

12

usf

xx 3

.65*%
64
.52%
.68*
.50
.54%
.38*
. 34%
.69*
46
62
49*
.01
02
.03

.08
.08
.07

-.04

.09

W il £ U

xx 4

81
J12*
48*
L 46*
.53*
43
. 36*
67*
AT
57*
.53
.03

-.02
-.04

-.05

.08
10

-.04
-.09

xx 51

.69*
.63*
.55%
61*
.52*
. 34%
12
45%
.68*
.58*
01
-.05
-.06

.08
03
12
.05
-.02
09

xx 52

A6*
J49%
.51
J43*
J46*
54*
(49
.54*
AT
.02
-.04
01
.05
-.01
12
18
-.06
.07

xx 6

b2
.64*
T
.30*
ROVA:
J41*
57*
51
.05

01

-.01

.02
.07
.05
.09

-.02

.04

fta 011

xx T

51*
A4 1*
. 38*
.53*
.52%
.64*
51*
-.06
-.07
-.06

.01
13
.08
-.04
-.01
.04

xx 8

.63*
.51*
.65*%
. 38*
.53*
.58*
.09

-.01

01

.03
.02
.03
13

-.04

03

B0

xx9

AT
J49*
.32
AT
J49*
.05
-.08
.00

.01
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.05

-.05
.02

x 10

42
46*
46
. 45%

-.02
-.08
-.02
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-.05

07 A
.02

-.07

.02

X1l

48*
.66*
57*
.08
.05

-.03

.15
.16

.03

-.04

.16

XX A

1
.65*%
61*

-.09

.00

-.01

.03
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.06
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-.10

.02

XXB

67

-.02
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.09
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1
.08
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JT4*
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J3Lx
.50%
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58 ml A ,

EDV K11 Kl 2 K13 Kl 4 XXI XX2 XX3 XX4  XX51  Xx52 XXG XX7 XX8 XX9 X 10 X1 XXA XXB XXC Y1 Y2
1
EDI 1
K 11 ETA|

K12 -.02 .06 1
K13 .14 -.10 .05 1

K14 57F 0 s6* 09 429 1

Xoo-.26 0 -.03 -.13 13 -.10 1

XX2 .14 -18 -.15 .09 .12  .58% 1

XX3 -.07 .12 -.12 -.04 -.06  .64% _g5* 1

Xx4 07 14 220 19 .10 L70% Ls4* 1% g

XX51 -.32% -.05 .11 .09 .15 .64% L 46* .55% 71*

Xx52  -.07 -.10 -.26 .16 -.03  .42% 45%  36* 64* 54* 1

XX6  -.04 14 .05 .04 -.01  42% 31* 38% 4t 4 a4*

XXT - 21 -.05 -.08 .09 .14 41% 21 L32% 36 52% o g1% 54t g

xxe  -.07 .11 -.18 .02 -.04  .55% .31 ,51% 55% p2* 3p* .50% .48* 1

Xx9  -.03 .10 -.0?7 .17 .18 .24 100 .20 .29 .27 .28 .45% 20 51% 1

XX10 -.15 .24 23 .18 -.19 .13 .04 06 .19 .25 .38 10 21 14 .18 1

XX11 -.10 .05 .00 .04 -.08  .40% .32% 31%* a1* o g0*  42% s ,37% L4 17F 36 1

XXA =02 -.03 -.09 .04 -090 14 17 14 24 21 .29 13 .00 .17 .08 L3R .63 1

XX3  -.16 .03 .01 -.06 .06 .28 .31 .25 .23 .35% .40% 25 .33% .a1* 100 .17 L67F L64* 1

XX¢  -.12 .15 -.06  -.08 -.02  .32% .33* 22 .15 .33% .32% 16 .30 .37F 2 .371* g6% Lg2* 71% 1

Y1 -.01 07 100 -.07 01 -.02 .06 -.06 ~-.08 ~-.13 -.08 -.03 ~-.10 -.01 -21 -.26 -.08 -.07 -.04 19 1

Y2 .06 .03 13 -.05 04 203 .05 .10 .03 -.15 -.01 04 -15 -13 -16 -.19  -.02 .01 02 -.12 53% 1

Y3 03 -.31% 05 -.08 .17 -.16 03 -.05 -.01  -.15 02 -.10 -.02 .00 -.02 -07 -.14 -05 -.13 -.18 .29 50
\ =15 <11 -.09 05 -.29 01 12 14 13 .16 A1 .20 .18 .09 .09 -.04 -.04 -06 -.01 -.13 -19 -.04

Y5 -.09 -.20 -.09 06 -.03 ~-.04 .16 A1 -.03 -.06 -.08 -.02 01 -03 -.11 -19 .16 -.03 02 -.12 J54% 33%
Y6 .00 219 -.03 0 -.20 -.05 .06 .00 .09 .20 12 .08 07 .04 00 -.02 -.06 14 K] 100 -.01 .29 .18
Y1 .04 .16 100 -1 .16 .09 .04 .16 .05 -.06 01 04 -13 -09 -100 -.15 07 01 A1 -.01 18 75% .
Y8 -.06 -.03 -.23 03 -.13 .18 19 .18 .20 .23 15 -.05  -.05 AT 009 09107 .02 .18 L1900 -.01 08
Y9 -.01 .06 .00 13 .04 .03 .05 .04 05 -07 -06 -12 -ole -110 2190 -.22 01 .02 e -.07 62%  62*
Yy =01 .06 01 -.04 .10 08 13 .20 .06 -.05 -.01 01 -12 -07 -15 0 -2l .01 01 A2 .04 2% 79

80T
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B oW N

Y1
Y2
Y3
Y4

39 ( )

( Y5)
R R2  R2Change
( ) 69777 48689 .48689
( ) 71609 51279 .02590
( ) 72334 52323 01044
( ) 12788 52981 .00658
Yo = 290 + (.53)Y1 + (.40)Y2
39
(Y5)
! (Y1) 1
48.69 (R2 = .48689)
2 ! (Y2)
2.59 (R2 Change = .02590)

001

51,28 (R2 =.51279)
3 4
1.04  0.66
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40 ( )

( ,Y6)
R R2  R2Change
L. Y2 ) 32190 .10362 10362
YL ) 33280 11076 .00714
3. XXII
) 34101 11629 .00553
Yo = 052 + (.09)Y2
40
(Y6)
(Y2) 1
10.36 (R2 = .10362)
001 2 3

0.71 0.55 '
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41 ' ( )
( Y7)
R R2  R2change
L Y2 | ) 45923 21089 21089
YL ) 48648 23666 02577
3. Y4 | ) 49661 24662 .00996
Yi = 73+ (L12)Y2 + (-.15)V1

41 ‘
(Y7)
(Y2)

I 21.09 (R2 =

21089) 2
(Y1) 2.58

(R2 Change = .02577)

001

23.67 (R2 = .23666)

3
0.99



114

4 , ( * )

( Y8)
i
R R2  R2change
K12 | ) 18935 03585 .03585
Y2 ) 22037 04856 .01271
XXC |
) 23644 05590 .00734
Y8 =202 + (-.56)K12
42 ' 1
(Y8)
(K12)
001
3.59 (R2 = .03585)
2 3 1.27

0.73



43

LYl (

2. Y2 |

. Y4

LY
Yo =
43

1

(Y2) ,

= .03543)

22359)

1.03

115

R R2  Rechange

) 36624 13413 13413
) 41177 16956 03543

) 47286 22359 .05403
) 48358 23385 .01026

20 + (04)YL + ((13)Y2 + (-.82)Y4

(Y9)
(Y1)
13.41 (R2 = .13413)
2
3.54 (R2 Change
3 (Y4)
5.40 (R2 Change = .05403)
001
22.36 (R2 =
4
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44 ' : ( )
( YY)
R R2  R2Change
L Y2 ) 57525 .33091 .33091
YL ) 62660 .39263 .06172
K12 63782 40681 .01418
)
4., Y3 ) 64045 41017  .00336

YW o= 83 4 (L36)Y2 + (L00)YL

44
(YY)
(Y2) 1
33.09 (R2 = .33091)
2
(Y1) 6.17 <R2 change

= .06172)
001

39.26 (R2 = .39263)

1.42 0.34
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2 f
45 ( )
( Y5)
R R2  R2change

Y2 | ) .52603 .27670 .27670
K12 ( 56434 31848 04178

)
YL | ) 59561 35475 . 03627

Y5 = 8.60 + (.63)Y2 + (-.93)KI12 + (.16)V1

45 ,
(Y5)
(Y2) 1
27.67 (R2 = .27670)
(K12)
4.18 ( R2 Change = .04178)

3 (Y1)
3.63 (R2 Change = .03627)
001

35.48 (R2 = .35475)
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46 ' ( )
( Y 6)
R R2  R2Change
L Y2 | ) .64696 41856 .41856
2. Y4 | ) 713300 .53729 . 11873
3. YL | ) 74833 56000 .02271
4,  XX6 ( ) 715560  .57093 .01093
Yo = -.25 + (.22)Y2 + (-.61)Y4 + t.02)VY1
46
(Y6)
(Y2) 1
41.86 (R2 = .41856) l‘ o
) 11 (Y4) 11l Y
11.87 (R2 Change = .11873) 3
(Y1)
2.27 (R2 Change = .02271) 3
001

56.00

1.09
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47 ( )

( Y1)
R R2  R2Change
1. K2 33673 11339 11339
)
2. XX10 ( ) 36953 13655 02316

Y1 = 52 4 (-1 02)KL2 + (1.47 )XXL0

iy *m
‘ (Y1)
(K12)
1 11.34 (R2 = .11339)
2 .
(XX10) 2.31 (R2 Change
= .02316) 2

001
13.66 (R2 =
13655)
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48 ( )
( ,Y8)
R R2  Rzchange
L K2 27661 .07652 .07652
)
2. XXC ( 32994 10886 .03234
14 )

Y8 = 167 + (-1.32)KI2 + (1.28)XXC

48 ,
(Y8)
(K12)
1 7.65 (R2 = .07652)

2,

(XXC)

3.23 (R2 Change = .03234) 2
001

10.89 (R2 = .10886)
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49 , ( )
I ( Y9)
i
R R2  R2change
Y4 ) 24933 06217  .06217
YL ) 35437 12558 06341
Y2 ) 41842 17507 .04949

YO = 27 + < 11)Y4 + (L08)YL + <-.195Y2

49 '
(Y9)
(Y4) 1
6.22 (R2 = .06217)

2 (Y1)
6.34 (R2 Change = .06341)

3 (Y2)
4,95 (R2 Change = .04949)

3 001

1751 (R2 = .17507)
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50 ( ,

S—

( YY)
R R2  R2Change
1. K2 29441 08668 .08668
)
2. Y4 ) 38509 14830 .06162

Y = 403 + (-.62)K12 + (1.05)Y4

50
(YY) I
(K12) 1
| . BT (R2 = .08669) y 4
7 - (Y4) '
6.16 (R2 = .06162) 2
001
14.83

“ .. 14830)
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51 ! ( )
( Y5)

248 R R R Change
1. Yl | ) 78322 61344 61344
2. Y3 | ) 80034 64055 .02711

Yo = 241 + [.69)YL + (2.66)Y3
b1
(Y5)
(Y1) 1
61.33 (R2 = .61344) 2
(Y3) 5
2.71  (R2 Change = .02711) 2

001
64.06

(R2 =.64055)
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52 ( )
( Y 6)
R R2  Rzchange
L Y2 ) 23134 05352 .05352
. KL ) 29652 .08793 .03441
3. Y3 ) 32824 10774 .01981

Y6 = .20 + (L04)Y2 + (-.04)KIL

5) :
(Y6)
(Y2) 1 ,
5,35 (R2 = .05352) 2
(K11)
3.44 (R2 Change = .03441) 2
001
8.79
(R2 = .08793) 3

1.98
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53 ( )
( Y7)
R R2  Rzchange
L Y2 | ) 81434 66315 66315
2. YL ) 86287 .74454 08139
3. K13 ) 86733 .75227 00773
Y7 = <03 4 (L38)Y2 + (0T)VL
b3 ' ‘
(Y7) :
(Y2) 1
66.32 (R2 = .66315) ?
1 24 N (Y1)
\ v ' "4 8.14 (R2 Change = .08139)
2 001

| 75.23 (R2 = .75227)
3 7



3.

.89

Y3
Y2
K12 |

54

(Y3)

2

126

R R2  R2change

) 10591 49831 49831
) .81719 66780 .16949
82259 67665 .00885

)

Y8 = -47 + (4.29)Y3 + (.53)Y2
( V(
(Y8) '
1 -
49.83 (R2 = .49831)
! (Y2) ?
16.95 (R2 Change = .16949)
001

66.78 (R2 = .66780)
3
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55 ( )

( Y9)
R R2  R2Change
Y2 ) 41907 . 17562 . 17562
YL ) 48103 23139 05577
3. 0B (P - 3 52683 27755 04616
)
4, K12 54326 29513 01758
YO = -56 + ((13)Y2 + (oayv1 + (.30)xxB
55
(Y9) '
(Y2) 1
17.56 (R2 = .17562)
2 (Y1)
5.58 (R2 Change = .05577)
3
(XXB) 4.62
(R2 Change = .04616) 3
001
27.76 (R2 = .27755)
4

1.76 |
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56 ( )

( YY)
R R2  Rechange
LYl | ) 77008 59302 59302
2. Y3 | ) 85697 73440 14138
3. Y2 | ) .89345 79826 .06386

Yoz 46 + ((15)YL + (1.43)Y3 + €23)Y2

56

(YY) ,

(Y1) 1
59.30 (R2 = .59302) 2
(Y3)
14.14 (R2 Change = .14138) 3
(Y2)
6.39 (R2 Change = .06386) 3
001

79826)
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57 ( )
( Y5
R R2  R2Change
L YL ) 83959 .70492 .70492
2. Y3 | ) 93341 87125 .16633
3. XX2 ( ) 93572 87557 .00432

Y5 = 60 + (1.05)YL + (7.75)Y3

07
(Y3)
(Y1) 1
70.49 (R2 = .70492)
2 (Y3)
16.63 (R2 Change = .16633) 2

001

87.13 (R2 = .87125)

43 (R2 Change = .00432) ,
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58 ( )

( Y7)
R R2  R2Change
L Y3 ) 82026 67283 67283
2. Y2 | ) 84374 71190 .03907
0. XX51 ( 85241 72659 .01469

)

Y = 20 4 (7.66)Y3 + (.87)Y2

58 ‘
(Y7)
(Y3) 1
67.28 (R2 = .67283)
2 (Y2)
, 3.91 (R2 Change = .03907)
2 001

7119  (R2 = .71190)

1.47
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59 (

(  Y8)
R R2  R2change
LY3 ) 71303 50841 50841
2. XXl ( ; 1 72883 53119 02278

)

Y8 = 67 + (L6T)Y3 + (-.22)XXI1

59 ’
I (¥8)
(¥3) 1
' 50.84 (R2 = 50841)
W w2 (XXIl)
rrod 751 3L 2.28 (R2 Change =
02278) 1 9

001
53.12 (R2 =
53119)



132

60 I )

( Y9)

R R2  Rechange
L Y2 ) 69145 47810 .47810
2. YL ) 719006 62420 .14610
3. XX | 79779 63647 .01227

Yo = 07 + (.94)Y2 + (-.00)YL

60 b
(Y9)
(Y2) 1
47.81 (R2 = .04810)
2 , (Y1)
14,61 (R2 Change = .14610)
I 2 001
62.42 (R2 = .63647)

3

1.23



84638)

133

61 ( )
( > %
R R2  Rzchange
Y2 ) .80924 65488 .65488
Y3 ) .86999 75688 .10200
Y1 ) 91999 84638 .08950

Yoz 14+ (53)Y2 + (3.22)V3 + (L1T)VL

61
(YY)
(Y2) 1
65.49 (R2 = .65488)

(Y3)
10.20 (Rz Change = .10200) 3
(Y1)
8.95 (R2 Change = .08950) 3
001



AT

R2

96078
66866
12897
13662

134

R2Change

96078
10788
06031
.00765

712.90

62 (
( Y5)
R
LYl ) 14885
2. Y4 ) 81772
3. Y2 ) .85379
4, Y3 ) 85827
Yo = 141 + (\56)YL + (4.28)Y4 + (.70)Y2
62
(Y5)
(Y1) 1
56.08 (R2 = .56078)
2 (Y4)
10.79  (R2 Change = .10788)
(Y2)
6.03 (R2 Change =.06031)
001
(R2 = .72897)
4 1
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135

63 ( )
( Y6)
R R2  R2change
Y2 | ) 42481 18047 18047
Y3 : 58264 33947  .15900
Y4 | ) 65123 42410 .08463
K12 67532 45606 .03196
)
YI | ) 69042 47668 .02062
XX52 70212 .49297  .01629
)
Yo = -36 + (.20)Y2 + (.72)Y3 + (-.8DY4
+ (L1T)K12 + (-.02)Y1
63
(Y6)
(Y2) 1 |
18.05 (R2 = .18047)
2 ' (YV3)
15.90 (R2 Change = .15900) 3
(Y4)
8.46 (R2 Change = .08463) 4

(K12)



136

3.20 (R2 Change = .03196) I 5
(Y1) 1 M 2.06
(R2 Change = .02062) 5
001

47.67 (R2 =.47668)

1.63



137

64 ()

( Y1)
fl
R R2  R2change
L Y2 ) 50792 .25798 .25798
2. K12 | 55526 30832 .05034
)
3. YL | ) 57110 32615 01783

Y7 = 351 + (1.66)Y2 + (-1.47)KI2

64
(Y7)
(Y2) 1
25.80 (R2 = .25798)
2 7
(K12) , 5.03 (R2 Change =
05034) 1 2
001
, 32.62 (R2
= .32615)

1.78



K12 (

138

( )
( Y8)
R R2  R2Change

) 33102 .10957 10957

47036 22124 11167
)

) 50818 25825 03701

\ 53226 28330 02505
)

175 + (L09)Y1 + (-.43)K12 + (-.12)Y2
+ (-.30)XXA

(Y8)

10.96 (R2 = .10957)

(K12)
11.17 (R2 Change = .11167)
(Y2)
.03701)
XXA)
.02505)
001

3.70 (R2 Change

2.51 (R2 Change

28.33 (R2 = .28330)



B~ o o

Y1
Y3
Y4
K12

Y2

—~ A~~~

139

R R2  R2Change

) 50211 25212 25212
) 94894 30134 04922

) 63146 .39874 .09740
65869 43388 .03514

) 67776 .45935 02547

Y9 = -39 + (07)YL+ (LT1)Y3 + (-1.07)Y4
b (L22)K12 + (.09)Y2

66
(Y9)
(Y1) 1
25.21 (R2 = .25212)
2 (Y3)
4,92 (R2 Change = .04922)

(Y4)
= .09740) 4
(K12)
= .03514)

9.74 (R2 Change

3.51 (R2 Change



hv

& (Y2)
2.55 (R2 Change = .02547)
001

45.94 (R2 = .45935)

*

140



67 (

99

R2

45489
96289
63304
64289

141

R2Change

45489
110800
07015
.00985

63.30 (R2 =

(
R
L Y2 | ) 67446
2. Y3 ) 75026
3. YL | ) 19564
4, K12 ( 80180
)
YY = 36 + (.56)Y2 + (.82)Y3 + (.10)Y1
67
(YY)
(Y2) 1
45.49 (R2 = .45489)
2 ‘ (Y3)
10.80 (R2 Change = .10800)
(Y1)
7.02 (R2 Change = ..07015) 1
001
.63304)
4
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68 ( )
( Y5)
R R2  Rzchange
YL ) 74193 55046 55046
Y2 ) .79062 .62508 .07462
K12 ( 19720 63552 .01044
)

Y5 = 230 + (52)YL + (.81)Y2

68
(Y5)
(Y1) 1
55.05 (R2 = .55046)
2 (Y2)
7.46  (R2 Change = .07462)
2 001

6251 (R2 =.62508)
3

1.04
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69 ( )
( ,Y6)
R R2  Rechange
L XX 16020 02566 .02566
2. XXC ) 31159 .09709 .07143
3. XX ( ) ) 35057 . 12290 .02581

Y6 = -18 + (L87)XXUL + (-.37 5XXC + (-.43)XX4

69
(Y6)
(XXII) 1
, 2.57 (R2 = .02566)
? -
(XXC) 1.14

(R2 Change = .07143) 3
(XX4) 2.58 (Rz Change
= .02581) 3

001
12,29 (R2 = .12290)



144

70 ( )
( Y1)
R R2  R2Change
Y2 ) 22414 05024 .05024
XX ( 30484 09293  .04269

)

YT 12+ < 10)Y2 + (4T)XXI

10
(Y7)
(Y2)
1 5,02 (R2 = .05024)
2
(XXI)
4.27 (R2 Change = .04269) 2
001

| | 9.29 (R2 = .09293)



LY3
2. Y2
3. X062

/1

/1

145

R R~ Rechange
) 33145 10986 . 10986

) 38031 14463 03477
42246 17847 03384

236+ (L39)Y3 + (.05)Y2 + (,16)XX52

(Y8)
(Y3)
10.99 (R2 = .10986)
2 ,
3.48 (R2 Change
3 ,
3.38 (- change
3

17.85 (R2 = .17847)
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12 ( »)

(1
( Y9)
VI
R R2  R2change
Y2 | ) 59216 .35065 .35065
R ) 13240 53641 18576
3. YL | ) o/#1f0 55019 .01378
YO = .16 + (.45)Y2 + (-2.05)Y3
12
(Y9)
(Y2)
1 35.07 (R2 = .35065)
2 (Y3)
18.58 (R2 Change
.18576) 2
001
53.64
(R2 = .53641)
3

1.38



1.77
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13 ( )

( YY)
R R2  R2Change
YI | ) 62987 39673  .39673
Y2 | ) 74253 55135 .15462
K12 | 75436 56905 .01770

)

W= 59+ (L10)YL + (.30)Y2

13 ,
(YY)
(YD)T« 1
39.67 (R2 = .39673)
2 (Y2) ,
15.46 (R2 Change = .15462)
2 001

5514 (R2 = .55135)
3
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74 ( )
( Y5)
R R2  R2Change
L YL ! ) SH4445 29642 29642
2. KUl ) 59530 .35439 05797

Y5 = 6.41 + (.65)YL + -8 )KLl

14
(Y5) *
(Y1) |
29.64 <R2 = .29642) 2
(K11) ' ’
3.80 (R2 Change = .05797) 2

001
35.44
(R2 =.35439)
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75 ( )
( Y6)

R R~ Rechange

L YL ) 28563 .08159  .08159

2. Y3 ) 37938 . 14393 06234

3. X4 | ) 44395 19709 .05316

4, XX ( 48892 .23905 .04196

)
Yo =-34 + (L03)YL+ (-.09)Y3 + (. 33)XX4
+ (-.18)XX1
75
(Y6) ,
(Y1) 1
8.16 (R2 = .08159) 2
(Y3)
6.23 (R2 Change = .06234) 3
(XX4) 5.32
(R2 Change = .05316) 4
(XXI)
4.20 (R2 Change = .04196) 4
001

23.91 (R? =
23905)



=~ o o -
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76 ( )

( Y1)
R R2  R2Change
Y2 ) 74564 55598 55598
Y3 ) 89426 79970 24372
YL ) 92275 85147 .05177
K13 ) 92930 .86359 .01212
YT = -.24 + (3.32) Y2 + (-4.83)Y3 + (-.6DY!
76
(Y7)
(Y2) 1
55.60 (R2 = .55598)
2 ! (Y3)
24.37 (R2 Change = .24372
3 (Y1)
5.18 (R2 Change = .05177)
3 001

88.15 (R2 = .85147)

1.21 ,
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11 ( )
( Y8)
R R2  R2change
1L K2 22711 05158 .05158
)
2. X1 ( 30301 .09181 .04239
)

Y8 = .71 + (.35) K12 + (.7DXX51

17
(Y8) :
[ (K12) 1
5.16 (R2 = .05158)
2
(XX51) 4.24 (R2 Change
= .42399) 2

001
9.18 (R2 = .09181)
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18 ( )
( Y9)
R R2  Rzchange
YL ) 62100 38564 38564
Y2 | ) 70920 .50297 11733
Y4 | ) 76562 58618 08321
K13 ( ) 79076 62530 03912
Y3 ) 81139 65835 03305
YO = -60 + (L12)Y1 + (L13)Y2 + (-.98>Y4
+ (37)K13 - (-.19)Y3
19
(Y9)
(Y1) 1
38.56 (R2 = .38564) ?
2 (Y2) ?
11.73  (R2 Change = .11733)
3 (Yd) ? ,
8.32 (R2 Change = .08321)
(K13) 7
3.91 (R2 Change = .03912) 5

(Y3) 3.31
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(Ra Change = .03305) 5 &
001
65.84
(R2 = .65835)
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79 ( ;

( YY)
R R2  R2Change
o2 ) 78745 62008 .62008
2. Y3 ) 87773 77040 . 15032
3. KU (& ) .88677 78636 .01596

YY = 1.60 + (.75)Y2 + (-1.11)Y3 + (-.22)Kll

79
(YY)
(Y2) 1
62.01 (R2  .62008)
2 (Y3) ?
15.03 (R2 Change = .15032) 2

001
78.64
(R2 = .78636)

1.59 7?7
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